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#include <stdio.h>
#pragma warning(disable:4996)
Int main()
{
double teihen,takasa,menseki;
printf("teihen=");
scanf("%lf", &teihen); [&] (FAEUT7RL X

printf("takasa="); DHUS
scanf("%lf", &takasa);

menseki = teihen * takasa * 0.5;

orintf("menseki = %f¥n", menseki);

orintf("address(teihen) = %p¥n", &teihen );

orintf("address(takasa) = %p¥n", &takasa );

orintf("address(menseki) = %p¥n", &menseki );
return O; N

} [%p] (FAEUI7RLX
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teihen=3

takasa=4

address(teihen) =
address(takasa) =

address(menseki)
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menseki » 16.000000 O065FDEO
takasa - [4.000000 O065FDES
teihen ~ 13.000000 O065FDFO
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printf("address(teihen) = %p¥n" &telhen)
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#include <stdio.h>
#pragma warning(disable:4996)

Int main()
{ double u[]={1.9, 2.8, 3.7},
double v[|={4.6, 5.5, 6.4},
Int i;
doub(;e ip; [&] (EIAXATEUI7RL X
for (i=0: i<3: i++) { DEU=
ip = ip + Ufi]*VIi; /
printf("MIta=%f¥n", ip);
prlntf( ‘address(u O_) = %p¥n", &u[0]);
printf("address(u[1]) = %p¥n", &u[1]);
printf("address(u[2]) = %p¥n", &u|2]);
printf("address(v[0]) = %p¥n", &v[0));
printf("address(v|[1]) = %p¥n", &v[1));
printf("gddress(v'_Z') = %p¥n", &Vv|[2));
return O;
} '%J [FAEUTRLZ
DRI 13
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/
A%&=47.820000 /
address(u[0]) = O065FDEO
address(u[1]) = O065FDES
address(u[2]) = 0065FDFO
address(v[0]) = O065FDCS8
address(v[1]) = 0065FDDO
address(v[2]) = 0065FDDS8
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v[0. 4.6 0065FDCS
v[1] 5.5 0065FDDO
v[2] 6.4 0065FDD8
u[O 1.9 0065FDEQ
ull 2.8 0065FDES8
u[2] 3.7 0065FDFO
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#include <stdio.h>
#pragma warning(disable:4996)
Int main()

Palebuse Lok

{
int a[2][3]={{1,2,3},{4,5,6}};
ntblall31={19.8.7) (654}
Int i;
Int |; — .
forJ(i:O; i<2: i++) { [&] (FAEUTZRLX
for (Jj=0; |<3; J++) =
\ printf("%d, a[{i][i]+b[i][i]): DR
\ printf("¥n"); /
printf("address(a[0][0]) = %p¥n", &a[0][0]);
printf("address(a|0[[1]) = %p¥n", &a|0]|[1));
printf("address(a|0[|2]) = %p¥n", &a|0]|2]);
printf("address(a|1[|0]) = %p¥n", &a|1][0]);
printf("address(a|1][1]) = %p¥n", &a|1]|[1]);
printf("address(a[1][2]) = %p¥n", &a|1|[2));
return O; N o §
} [%p] [FXEUT7RLX
DETGN 18
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10, 10, 10, /
address(a[0][0]) = O0O65FDEO
address(a[0][1]) = O065FDE4
address(a[0][2]) = O065FDES
address(a[1][0]) = OO65FDEC
address(a[1][1]) = OO65FDFO
address(a[1][2]) = OO65FDF4
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a[0][0] a[O][1] alO][2]

a[1][0] a[1][1] a[1](2]
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AEUTFZRLA
a[0][O] 1 0065FDEO
alO][1] 2 0065FDE4
0][2] 3 0065FDES
a[1][0: 4 0065FDEC
1][1 5 0065FDFO
a[1][2: 6 0065FDF4
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ma warnln (disable:4996) {
v0|d ar( int len )g
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INt I;

for ( 0; i<len; i++) { [ BRZRODECHI DICEEE =D
}mmﬂ) AEUTRLR] #ZIFEO T,
printf("¥n"); fcl x EUTED.

return

%/md bar_graph( int len] int x[] )

Nt i;

;Orb%_r( X[i]) N
return; ACHDETEERDAEY 77 FL A (&

|}nt main() 9 CICRITEHDTZDT, x[i]DKDIC

{ a7 1 53 2BV TRFIDEREBER S

r_gra
} retarn 0 BiR5l) a DSCEEEZRD
AEU7RL R (&a[0] DABEHS)

23



5.

IS IRERTT B -

E1TiEROA)

*k %k %k 3k %k

*k %k %k 3k

%k %k 3k %k %k k%

*

*k %k %k 3k %k

* %k %k

* %k

24



BAZIF O LD
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int main()
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R0y bar graph FA%X

bar_graph(7,a); Cwoid bar_graph(int len, int x[] )
\

bar( x[i] ); Qﬁoid bar(intlen)
N
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2R TTEEHIDZHE L =
#include <stdio.h> s 45
#pragma warning(disable:4996)
void print_matrix( int *x,[int n, int m) {
int i; P “
! N [EEF—SDAEUT KL
for(i=0;i<n;i++){ %PRA(/THYDT, X c‘:b_C'f§5
for(j=0;j<m;j++){
printf( "%d, ",[x[I*m+]] );

}
printf( "¥n"); \

}

return; 2 /RcheF x DifT 5
}
Int main()
{

int a[2][2] = 41,2},{3,4}});

print_matriX( a,|2, 2 );

PO T gl ) DEEEBROAEUT RLR 30
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main %X

int main()

RN 7 N o
RIIFUH L print_matrix BEZX
print_matrix( a, 2, 2 ); C%oid print_matrix( int *x, int n, int m);

RO

return;
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print_matrix( a, 2 );
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X[I*n+]] OEBR *-
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2 R7ohcdl a Be5l D& HTa T BE5I DS KL A,
' EATBIBEDBES Ao ST
a[0][0]  a[0][1] (main BEEXA) AD ‘C(,\aif',—, DE=XFS
al0][0] —+ 1 x[0*2+0];
V1 al0][1] 2 x[0*2+1];
y a[1][0] — 3 x[1*¥2+0];
; ; al[l][1l] | 4 x[1*2+1];
a[1][0] a[1][1]
2 Rchdsl XE)
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#include <stdio.h>
#pragmarwarning(disahle;
}/md ar( intlen) ?
SPTZELS
=0; I<len; i++) {
printf("*");

printf{"¥n" :

Inti;

L -

printf("ad reSSElen) = %p¥n", &len):
pr{ntf "address(i) = %p¥n", &i);
return;

Int main()
{ |nt |en; J%}E ,g\gy
printff( "len=")):
scanf( "%d", &len);
bar(tlen );
printf("address(len) = %p¥n", &len);
return O;

RUTE ) o5 1 — )

5.
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len=10

sk sk %k 3k 5k sk %k % 5k k /

address(len) = 0065FDA4
address(i) = 0065FD98
address(len) = 0065FDF4

5.
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main BE%X
int main()
FEEFOH U bar Sk
bar(len); C% void bar(int len)
\
=19
return O;
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XE£
| 0 O065FD98
len > 10 0O065FDA4
bar BEENCTIESE 5
len - 10 OO65FDF4
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#include <stdio.h>
#pragma warning(disable:4996)
void int_count(int *count ptr) NGIESN

{

*count_ptr = *count_ptr +1;
return;

)

int main()

{

int count =0; J%ﬁﬁ’z"ﬁﬂ

while ( count<10) {
int_count(&count);

}

printf( "count=%d¥n", count );

return O;

Palebuse Lok
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RO LN

main BE%X

int main()

FEMFUE U

int_count( &count);

N

bar EZX

wid int_count( int *count_ptr)

RO

return;

Palebuse Lok
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int_count(int *count_ptr)

count NDMNA >4
PENIE - énéé — ’

{ NNg count_ptr

................ .. ' count_ptr tb\j%ﬁuﬂ)%
; Y I e S
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W;& count
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INA D AZENC K DT —FRE ?‘

*count_ptr = *count_ptr +1;

{Nﬁg count_ptr

BEMOPHSRBE, |
ZZZN count I *count_ptr (11

IFONH LA IO SR

- count_ptr M35 U TL\DZEEN count DIEN 11X D
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age ptr
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#include <stdio.h>
#pragma warning(disable:4996)
int main()
{
int age;
int *age ptr;

age_ptr = &age; SR
*age ptr=22; * ZfEF

printf( "age = %d¥n", age );
return O;
}
- age_ptr (X age iU CL\D 5,

age (X [22] [CEDD -
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#include <stdio.h>
#pragma warning(disable:4996)
int main() {

int age;

int *age ptr;

int *second_ptr;

>

age_ptr = &age; } R 7B

second_ptr = age_ptr; .
*second_ptr =22; } * 2 ER
printf( "age = %d¥n", age );

return O;

« N DDA AZEHH, BUEDEL
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N

teihen |« scanf("%lIf" &teihen);
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ptr++ @%ﬂ;’k Do 138

Int ary[7];
nt7pr ReA >SS ptr (C, B
ptr = &a[0]; }ary NDINA 2Pty

ptr 2 1 DENHT,

_— [ (o DROBR al1) %IET)
| ptr Z 1 DEIHT,
pur++; (a DIRDEZR a2] =469

printf ( “%d”, *ptr );
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2 RITECHITD ptr++ DELk
int a[1000][1000];
Int *ptr;

) N T -
ptr=&aO9I0%: o Kopfis > 9tz S

Dtr++: _ ptrz 1 DEINVT,
’ N 2 a[99][1] =&
tr: ot G oI e )
a DRDEZR a[99][2] 7157

printf ( “%dﬁ’, *pgtr );
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JO205 /51 char string[6] = “March”;
char *ptr = &string[0];

1 {Ptr
X FF string ~\D %
RA>IWtY hand /
s (TG o

STEHIDIRIN D

ZR9 iLs

7|'\/I’ AT E ptr (C, XF5 string A\DIRA 25 %2
tzw 9B (char* ptr = string; &EL\_C:BJZL\)




typedef {

Palebuse Lok

e typedef ZE> T, FTUWEDZRIZHEZX DK
DICIRD

struct date { typedef struct {
int year; int year;
int month; int month;
int day int day

5 {— |}date;

struct date a; 5 U, =k | date a;

a.year = 2002; a.year = 2002;

a.month = 10; a.month = 10;

a.day = 20; a.day = 20;
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